HMANIE BT 4
DEIEMA / 5o EIRE

DEEMERER - BAARMEE

EH 22110.

i

EmiEiR

REIHERRREIHEA.
EHTEHETHERRE.

HRREREE, 5 eV AT U ESHEA.

e

EN-
« TH@SH 1.4305

EEHT
< i, Wi
o THESH 1.4305 , R

Fie
- BB(PA6), B, MHIEN

e

BHEETHIEEMEHERE EH
22120.).

B’

BESRARFIH , OO A — B O3 (LR
HIETERY ) .

EZEA

EEER

TRIB B e

RIS AEBIBE.

EZEM

« XEE, ARoSRe NS BIENE B
- EUHE, BRARD SRS EE M
- EERER SRR EEME

&l E
d3
|—-I - o = = o
I Pans
- WS Y
g%y L
- H
AV ey
o $ r lock nut
w | d 22120.014 — 0120 (steel)
1 22120.0514 — .0520 (stainless steel)
dz
STEER
R ws BwERE" & [ 1 RoHS REACH
dq I, ds ds l4 I3 Iy F4 F, min max.
-0,02 | min =~ ~
-0,04
[mm] [mm] [N] [°C] [a]
Ei]
RoHS contains no
4 4 | M8x1 16 35,0 16 5 | 10 45 12,0 30 | 80 12 | 22110.0123
X ’ ’ F0R% | SVHC materials
4 6 | M8x1 16 35,0 16 5 | 10 40 12,5 30 | 80 12 |ROHS | containsno o, 05000
’ ’ 0R% | SVHC materials )
5 5 | M10x1 19 40,0 18 6 | 12 5,0 15,0 30 | 80 g0 |ROMS | containsno o 0106
' ' ’ F2R% | SVHC materials ’
5 8 | M10x1 19 40,0 18 6 | 12 5,0 18,0 30 | 80 20 |ROHS | containsno ), 0107
' ’ 2R% | SVHC materials ’
6 6 | M12x15 | 23 48,0 22 6 | 14 6.5 19,0 30 | 80 31 | RoHS | containsno o) 0109
’ ' ’ 2R% | SVHC materials ’
) GE S E
ENHALDER RmnS

B 7E: 21.6.2021


http://halder.com/tw/22110.0123
http://halder.com/tw/22110.0124
http://halder.com/tw/22110.0126
http://halder.com/tw/22110.0127
http://halder.com/tw/22110.0129

HMANIE BT 4

PEIEMFE | 2 ERE
R ws BwERE" & [ 1 RoHS REACH o
dq I, dy ds l4 I3 Iy F4 F, min max.
-0,02 | min = =
0,04
[mm] [mm] [N] [°C] [a]
RoHS contains no
6 9 | M12x1,5 | 23 48,0 22 6 | 14 6,0 25,0 -30 80 B | o | SYHC materials | 221190130
RoHS contains no
8 8 | M16x1,5 | 28 58,0 26 8 | 17 8,5 26,0 230 80 65 | o | SYHC muterials | 221100132
RoHS contains no
8 | 12 | Mex15 | 28 58,0 26 8 | 17 8,5 28,0 -30 80 68 | o | SYHC materials | 221100133
RoHS contains no
10 | 12 | M16x1,5 | 28 58,0 26 8 | 17 95 38,0 -30 80 69 | g | SYHC muterials | 221100138
RoHS tai
122 | 15 | M20x15 | 33 67,0 33 | 10 | 22 115 40,0 30 | 80 | 125 ;% S\/c:gel":;ster:'loab 22110.0136
RoHS tai
16 | 20 | M24x2 | 33 785 38 | 12 | 27 13,0 54,0 30 | 80 | 220 ;% Svcsgi::tenr?als 22110.0137
TR
RoHS tai
4 4 | MB8x1 16 35,0 16 5 | 10 45 12,0 30 | 80 12 ;% S\/c:gel":;ster:'loab 22110.0223
RoHS contains no
4 6 | M8x1 16 35,0 16 5 | 10 4,0 12,5 -30 80 12| "o | SUHC moronals | 22110-0224
RoHS contains no
5 5 | M10x1 19 40,0 18 6 | 12 5,0 15,0 -30 80 20 | o | SVHG materials | 221100226
RoHS contains no
5 8 | M10x1 19 40,0 18 6 | 12 5,0 18,0 -30 80 20 | o | SVHG materials | 221100227
RoHS contains no
6 6 | M12x15 | 23 48,0 22 6 | 14 6,5 19,0 230 80 31 | | SVHG materials | 22110:0229
RoHS contains no
6 9 | M12x1,5 | 23 48,0 22 6 | 14 6,0 25,0 -30 80 B | i | SUHG materials | 22110.0230
RoHS contains no
8 8 | M16x1,5 | 28 58,0 26 8 | 17 8,5 26,0 -30 80 65 | o | SUHG materials | 22110.0232
RoHS contains no
8 | 12 | M6x15 | 28 58,0 26 8 | 17 85 28,0 -30 80 68 | oy | SUHG materials | 221100233
RoHS contains no
10 | 12 | M16x1,5 | 28 58,0 26 8 | 17 95 38,0 -30 80 69 | iy | SVHG materials | 221100235
%Y
RoHS tai
12 | 15 | M20x15 33 | 670 | 33 | 10 | 22 | 115 40,0 30 | 80 | 125 j,ﬁ SThC a2 | 221100236
%Y
16 | 20 | M24x2 | 33 | 785 | 38 | 12 | 27 | 130 54,0 30 | 80 | 220 '{;’; S\;;:gt?::t;?als 22110.0237
Y
Vgt RiE

EB2H3
EEHALDER FIZTE: 21.6.2021


http://halder.com/tw/22110.0130
http://halder.com/tw/22110.0132
http://halder.com/tw/22110.0133
http://halder.com/tw/22110.0135
http://halder.com/tw/22110.0136
http://halder.com/tw/22110.0137
http://halder.com/tw/22110.0223
http://halder.com/tw/22110.0224
http://halder.com/tw/22110.0226
http://halder.com/tw/22110.0227
http://halder.com/tw/22110.0229
http://halder.com/tw/22110.0230
http://halder.com/tw/22110.0232
http://halder.com/tw/22110.0233
http://halder.com/tw/22110.0235
http://halder.com/tw/22110.0236
http://halder.com/tw/22110.0237

HMANIE BT 4

DEENMAE | 5 BIRE
[
R~ WFERS i RoHS REACH R
d,
[mm] [mm] [g]
$HERIRIE 1SO 8675(DIN 439) BRAR FHR Y, &4
M 8x 1 13 27 R%;; S\f:gti:e”r?als 22120.0114
M10 x 1 16 52 R%;: S\f:gtir:;?als 22120.0115
M12x 1,5 18 7.4 R%; S\f:gtir:;?als 22120.0116
M16 x 1,5 24 18,0 R%g S\/c:gtir:e”r?als 22120.0118
M20 x 1,5 30 32,0 Rioﬁ:g S\;::?Jt?:\r;ster:?als 22120.0120
M24 x 2 36 58,0 RE%:;; S\;::Igt?:\r;ster:?als 22120.0122
$H{EX4R0E 1SO 8675(DIN 439) AR THIR Y, F&HHE
M 8x1 13 27 Rioﬁ:g S\;::?Jt?:\r;ster:?als 22120.0514
M10 x 1 16 52 RE%:;; S\;::Igt?:\r;ster:?als 22120.0515
M12x 1,5 18 7,4 R%;; S\;:I?Igtir;ste:?als 22120.0516
M16 x 1,5 24 18,0 R%:S; svc:giiwr:aste:?ms 22120.0518
M20 x 1,5 30 32,0 R%;; S\fﬁgir:e:?als 22120.0520
M24 x 2 36 58,0 R%;; S\fﬁgﬂ;ﬁe’:ﬁals 22120.0522
FEREHI
!
—T—
|
j
(I
(L1 1)
v/~ /7 A4
HH 3N 3

NHALDER

B 7E: 21.6.2021


http://halder.com/tw/22120.0114
http://halder.com/tw/22120.0115
http://halder.com/tw/22120.0116
http://halder.com/tw/22120.0118
http://halder.com/tw/22120.0120
http://halder.com/tw/22120.0122
http://halder.com/tw/22120.0514
http://halder.com/tw/22120.0515
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518
http://halder.com/tw/22120.0520
http://halder.com/tw/22120.0522

